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1. Which one of the following pases is 6. An irregular mode of reproduction

released maostly rom landfills in urban resulting in the development of an

arcas? embryo without fertiization 1s called

frrj  Mitrogen 1. Parthenogenesis

{tj Hydrogen 2.  Apogamy

o/ Methane 3. SBporophytic budding

{d) Oxygen Select the correcl answer using the code
Eiven below.

2. Which one of _thc following is most f@ 1 enly

sensitive to environmental change?

{b} 2 only

fra)  Armphibian
{h] Reptile

fe) Mammal fd) 1, 2 and 3
fdj Insect

fe] 2 and 3 only

7. Which one of the following is neot an

allotrope of carban?
3. Which one of the llowing is the largest e

source of clectricity in India? fa} Coal

fa] Hydropower plants fb) Diamond
fb)  Nuclear power plants fe) Graphite
fol  Thermal power plants {d) Graphcne

fd] Wind enecrgy
B. In paper manufacturing, depumming of

4. The HIV virus wealens the immunily of a the raw material is done using
person because il destroyvs

fo)  sulphuric acid

t cell
(] rasticelly fb)  bleaching powder
it} platelets

fo}  erythrooytes
fidi  lymphooyios

fc]  caustic soda

fdl nitric acid

5. Which one of the following air pollutants * Dnlu‘mlte powder s ?ﬁphed o aumcf
combines with the hasmoglobin of agricultural lands. L L

human blood and reduces its oxvgen-

carrying capacity, leading to suffocation fa) increase the pH of the soil
and may cauze even death?

applyving it is to

fb) lower the pH of the soil
Chloroll marh
o e fe) increase the phosphorus content

fhj Fly ash of the soil
(¢} Carbon menoxide {d) increase the nitrogen content
fd) Sulphur dioxide al the soil
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1, Tefafes 4 A S9-d s Tm oweh & W
sa-y0a el (Fsfre) § aiftew Fered
Be
fa) TTEEA
(b} TTEGEA
fe) WA
(d) i

2. Frfafas # % =F-w = ooEeh ofed &
afa waifue weesia #7
fa) I
(b wlT
fe) TEATET
(d) e

3. Fefifiga § 4 $R-m wF gmm 4 gy =
T 51 |E 87
(a) A-Ta=rel w9
(b} iR et guw
fe) - TErE H
(d) wEA FE -

4, HIV Fu Bl wafs 6 Dusma BFR wEn
N 0 57
() TS iR F TR e
(b) e (FeeR) F e w5
() T F1 TR FE
() TR T TE e

5. Fe=fafiad 3 8 $9-9 & A1g ygus 4E
& dreifEE 5 e i e sl
94 ol mh =eE o sy $aan §, faed
AR BT § 3 ue WA wwd) &7
(o) FEREIETE
(b) g W
fr) e HiHTIgE
(d) HeH, ST3HIGHEE

SNC-S SNDJ1A

6. W | um #Ahmfa @, e giummesy

i & B @ oqu = farw € R, ¥

FHEeTl 87

1. Al (MEHREE)

2. st ()

3. Hem-wEpEm gFen  (WRenw
afem)

Frar fow 5= = w@ w Al T gig

fa) a1

(b) 2

fe) e 2 20 3

(d 1,233

7. et § ¥ ®E-A1 TF wEA R 9%

7t 27

(a) I

(b) T

fc) Terfas (Iemge)
() b

8. TnE Tmm #, %= A w1 =i s mEm

H ey = o F

() TEEE A

b) e

{c) =TEF WiEl (Fifees |rE)
() gle s

o. BremTe o = WM T = wf & fe

wren | 5= T % SR g &7
(a) T F pH = TG

(b) TE1H pH H HH A

fc) HE1 H BIERRE HEH Sl EgE
(d) TR I AL T B AGH]
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10. Deficiency of fluoride leads to which one

of the following health problems?
jm) Tooth caries

(b}  Mottling of tooth

{e]  Bending of bones

(d] Stiflening of joints

11. Excessive use of which of the following

fertilizers may be responsible for the
presence of a  loxic  substEnee  in
groundwater?

et Nitrogen
{b] Pheaphate anly
jc} Potassium only

fd} Phosphate and potassium

12. Which one of the following elements

does nmot form solid  hydrogen
carbonate?

i) Sodium
{b] Potasaium
e} Cacsium

{d} Lithium

- 13. According to Census 2011, which one of

the following is the correct sequence of
States in decreasing order of thelr total
size of population?

() Kerala, Jharkhand, Assam, Punjab
() Jharkhand, Kerala, Assam, Punjab
) Kerala, Jharkhand, Punjab, Assam

e} Jharkhand, Kerala, Funjab, Asaam

SDC-5-5NDf1A

14. With reference to earthiuakes, which of

the Following statements are correct?

1. Earthgquakes largelv occur along
the converging plate boundaries.,

2. Point of origin of earthqualke in
lithosphere is kmown as focus/
hypocentre.

3.  Intensity of sarthguake decreases
with distance from the epicentre.

4. Epicentre of earthquake always
remaing over continents only,

Select the correct answer using the code

giver: below.

f) 1 and 2 only

fb} 1,2 and 3
fo} 2 and 3 only
fd} 1 and 4

18. Which of the following pairs of Indian

State and tribal population are correct?
1. Madhya Pradesh : Largest tribal

population
2. Mizoram : Highest percentage of

tribal population out of the total
population of the State

3. Chhattisgarh : Second largest
tribal population after Madhya
Pradesh

4.  Arunachal Pradesh : Second highest
percentage of tribal population
out of the total population of the
State after Mizeram

Select the correct answer using the cods
given below.

fa) 1 and 2 only
fh) 2 and 4 only
fed 1,2 and 3
fd) 2,3 and 4



10. Ffafgn 4 8 #-d ww @ @R

v igE F FH F wAw B 27
fa) = H

(b} G W FE

(c) wferE] =t a4

(d) ST

11, Rofafian @ 8§ § o w w1 s

ELe Ol e R e e o e e e A i
¥ fom Fordier & @ 27

(a) =TT

(b} =S Bl

(e) Fram WEfmEm

() FTERZ SR grefEmm

12, Frafafigs o= 3§ 4 SW-T W, 39 TEEEA

FIEE T = 8?
(o) Hifzam
(b} Tt
fc) i
(d) whiEms

13. 2011 € w9 ¥ pow, Fefafm 4 9

Fr-fl T A Tl & IR TE sEEl R
gzo B N H 1 7

fa) A, SEYE, A,
(b) WHETS, FA, FEH, T
fc) =TE, FREVE, THE, HAY

(d) TS, e, FeE, A
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14, s F g2l 4, FrefEfee § 3 $9-8 =R

o &7

1. ey wferige: sedl 9l
i % HAEE A

2, wEAvEA H 4F H IEW W g
IETH F5/ HFhR Feal gl

3. W i dEa s § gl % o
EEaiE ]

4, wwH % afudz o4 medd wm
eIy

A= fm g2 o = ad we gfi
() w1 AR 2

m 1, 23M3

fc) ¥a@A2 3R 3

(d) 134

15. 9NAW 799 3R S=edE sAaen F et

T H ®H-A 2wt 37

1, TPFEET : WA S s

2. ﬁﬁﬁmzmﬁfﬁmﬁm
FEE F1 HiwEes g

4.  SHEMMEE WLR : TUERE % W Usg f
Fol wEE W 4§ e sEEE 6
arfiran ufesree 3 AR 7H0 U=

ot iy T 2 1 A AR e R

fa) FAA 1 3N 2

(k) ¥ 2 24

(cl 1,233

(d) 2,334
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16. The spring constant of a spring depends

on its

fa) length only

(&) material cnly

fe}  length and its diameter

{d) thickness, its diameter and iis
material

17. In the gamma decay of a nucleus

fa} the mass number of the nucleus
changes whereas its  atomic
number doecs not change

fb} the mass numhber of the nucleus
does not change whereas its atomic
numhber changes

fe) both the mass number and the
atomic number of the nucleus
change

fid) neither the mass number nor the
atomic mnumber of the nucleus
changes

18. In a bipolar junction transistor

(g) all the three regions (the emitter,
the base and the collectar) have
equal concentrations of impurity

{b) the emitler hus the least concen-
tration of mpurity

jcj  the collector has the least concen-
tration of impurity

{ej the base hasg the least coneen-
tration of impurity

19, The pressure exerted by a 760 mm

column of mercury at 0 °C is known as
fa/ 1 pascal

{B) 1 atmosphere

fe 1 bar

fd] 1 peoise

o

20, Which one of the following physical

guaniitics has the same dimensions as
that of Planclk's constant h?

fa) Linear momentum
fb} Angular mementum
fe) Force

fd} Totential energy

21. Which one of the following statements is

not correct?

{a] The response of the ear o
gound of increasing intensity is
approximately logarithmic,

fb) The sensitivity of the human ear
does not vary with the frequency of
the sound.

fe} When two  or more waves
traverse the same medium, the
dizplacement of any element of the
medium is the algebraic sum of
the displacements due to each
wave,

fd} Longitudinal waves can travel in all
media—solids, liquids and gases.

22. Which one of the following hormones is

esscntial for the uptake of glucose by
cells in the human body?

(@ GH
(B} TSH
foi  Insulin

(e} Cortisol



16. Tl wAr | wAHl EEs fra om B
a1 27

fa) AT THH @I 4

(b) e THE gE W

fc] T wrels SR IEE AH W

(d) FE! AT, TEE =W R 3AE g W

17. Tl s & e a8 4 den 87

(g A e TEedl € W=
T THIY] S T aae §)

(b) i # wewwm-wEm T wEed R
Sl T WA -FAE Fee &

fe) iR ) FEMF-EEN AN TE-FA
T TEE B

() T TF F T A deed § S
A ) WA -FAT TR ¢

18, T iy |t gifsren 3 = g 87

(a) TR & (IR, 99 AW wmEE)
w9l ) ypedE |ig @ 2

(b) Frasas § 2gifa ) HedqdH Wizl vl B
fo) duies 7 wgpfe € seyaa wEa T
(d) 3§ iy A weEm TR B R

19. 0°C 9 9HE & 760 mm Fiad 80 w0 =9
T T TR BT

fa) 1 9REERE
) 1 iEEfEER
fe} 14N

fdj 1 T4

SDC-5-5ND/ 1A

20, F=fafan Sfs oiEe 9 2 fr oo 6 Bond
i i b Fwell & gur o 27

fa) “tftEE g2
fb) i TEM
fc) TE

(d) Teaios ==

21, Frofafag & 4 =R-w1 UF %00 w78 87

fa) @ Hi Fod g dwa % 9 w5= R
viafm @ e (wifeai)
Fret B

{b) WFE =R H HaEAsE E@e e
&y A7 |sedl B

() @ WY Al T v ) oAem A
Tt &, @ 38 W & T s W
feresnam a0 wellesh Al g0 gy et &
sty dnp & et dar g

fc) srEe qul wdl qrei—ei, w9 e iy
¥ =5 Al

22, frafaiEges 4 @ F9-7 §OF, T99 WR ¥
wiimERe TO wEE 6 smom w fg
wifram 27
fa) e UHs
(b} le THo UHo
(c) T
(d) Fifeuia
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23. Which of the following cells do naot 26. Match List-I with List-Il and select the
contain nucleus? correct answer using the code given
below the Lists :

1. Root hair cells

2. Red bBlood cells Fitsd List—IT

3. Plateleta {Element} (Propertyy Use)

4. Monocyles A, Mg 1. Qives red colour to flame

Selecl the correct answer using the cade

ks Blow B. Ca 3. Sulphate compound used

in medicine to examine the
alimentary canal of a

fo) 1 only
patient
fb) 2 and 3 only .

. Br 3. Traps the enérgy of sunlight
fe) 1,2 and 4 in photosynthesis
{d]l 2,3 and 4 I Ba 4. Contrel of muscle

contraction
24, Biological catalysts are protein molecules

which e

1. speed up a chemical reaction jal A [E] o D
2. remain unchanged after reaction 2 % h .
3. function optimally et 37 °C fb} A B 2 D
4. do not have an enzymatic activity 2 1 4 3
Select the correct answer using the code fe) A B C D
given below. 3 4 1 2
fri} 1 only fedj A B C D
fb) 1,2 and 3 - : ! ¥

(¢ Qand S only 27. Which one of the following statements is

fd) 1,3 and 4 correct?

fa) The oxidation number for hydrogen
Z6. ‘Altitude sickness’ is caused at high iz always zero.
altitude due to '
fb) The oxidation number for hydrogen

fa) high parlial pressure of oxygen i ety +1,

e} B i ; - s
(b} low partial pressure of oxygen fe} The oxidation number for hydrogen

fel  low level of haemoglobin is always =1
fd} high partial pressure of carbon e} Hydrogen can have more than one
dioxide oxidation number.

—__ SDC-S-SND/1A - 8 E e



23. F=fefan 7 # o ifiemet 3 ofie o 26. FE-1 F g | gafen Fifag @ gl

B &7 A1 fit T T W o I g
1. HE Im wifE
2. e T i -1 -1
3 “ﬁ“ gt (o) (o i)
4, W{Tﬁ:ﬁﬂmg} A, Mg 1, Wmiﬁﬁﬁﬂ‘:"ﬂl%
B. Ca 2. Tafirrar # wethe i =1 3wm
PO A o e e 7 1 STEC AT R
fa] A 1 Eoc il
(b) a7 2 3R 3 ¢ Bi 3. ye-gyerm # wF & ywm
c) 1,2 3R 4 ﬁﬁ‘ M%
i aaion D. Ba 4, TS HEA w A
et
24. S TE, PR @ 2R, W Fm = w m
o
1. Wb aufFm e e 2 -1 1 3
2. WUEN % =E FuiEod wd B W A B € D
3. 37°C W 3ETA ®wH w7 2 1 4 3
4, e whEEm T wwi gt A B € D
412 fiy ™ %2 = W@ W= O aw g L L #
(@) a1 fdd A B C D
3 1 4 2
b 1,238r3
(c) w2 ¥ 3 27. F=ffag @ & S9-w1 s wya ad 27
(@ 1,34 fa) TEEI ¥ fo s siE wid A
TR
25. ﬂjﬂm wiYm $TE W AT 2| $EE i e (s
' e B
(a) ST F 3= A 46 T ———
FFEAEL] s 3T |
(b} SAFE T = A = e E’I:nh
(o, ORI S Wt S (d) TEESE F UF ¥ afm afehEm s
fd} A SRS W I HE e T Fd B
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28. In case ofa standard hydrogen electrode

(e}

(b)
(c/

(d)

abuaolute  electrode potential @ s
not zero
absolute electrode potential 1s zero

both absolute and standard
electrode potential values are zero

electrode potential is zerc only al
25°C

29, The elemental composition of an adult
human body by mass is

(a)
(b
fc)
()

C>0>H=>N
O0>C>=H=N
N>C>H>0

N=C=0=H

30. With regard to water transportaton in
India, which of the following statemenls
are correct?

1.

Headquarters of Central Inland
Water Transport Corporation is
lacated at Delhi.

Headquarters of Inland Waterwavs
Authority of India is located at
MNoida.

National Inland Navigation
Institute is located at Kolkata.

Firal National Inland Waterway was
between Haldia and Allahabad.

Select the correct answer using the code
given helow,

()
(k)
(c)
(i)

1 and 2 only
2 and 3

2 and 4 only
1, 2 and 4

SDC-S-SND/1A

31. If the latitude and lengitudinal extent
of an Indian State/UT is 15374800 N
to 14537157 N and Y4*20°137E to
T4*40°33" E, then which one of the
following is that State/UT?

fa)
(b)
fc)
(el

Puducherry
Chandigarh
Goa

Delhi

32, Match List-] with List-Il and select the
correct answer using the code given
below the Lists ;

List-1 List-if
(Ratway Zone) (Hemclgquerrters)
A. North Eastern Railway 1. Kolkata
B. Easal Central Railway 2. Bilaspur
. South East Central 3. Hajipur
Railway
D. South Eastern 4, Gorakhpur
Railway
Code |
fa) A B C D
“ 2 3 1
(Bl A JE] C |
1 3 2 -
el A B c D
1 2 3 4
(d)



28, U UG €SN Te9EIE & W # 31. IR e wdm Te/As i wm oW
g A O RN 15°48°00°° N

(a) Frafa st o 3o 7 € 2 4 14°53‘15'N 3R T74°20°13"E
(b) Tty sere e o B B 74°40°33" E ®, M Frafafa 8 % =8 7=/
ez, WITH e FE-E T
(o) Fafg sin wes 9 TER FogoEs .
EECER i Rinl. (o) TG
d) T e e a5 e EIGI
(d) e 25 *C W 7[A )
29. TF IYER GFT THA F1 AifEE 29 FEE F fc) e
rgam fiF W Ee B
fo C=0=H=N ) T
fh O=C>H=N
- a2, Tl F ge-1 A gt i o gl &
(8 N>C>H>0 Fr R I 2 A Wi AR ) s gR
{d) N=>C=0z=]II
eI HA-11
30, Y i W@ wEer % waw § Ffuia § 9 (3@ wvEs) (YzaTea)
-8 Ford W 87 A, Tt 1. il
1. wEm i W UiEEd Fmo @
o B 3 i 81 B. gd-mA 1A 2. TR
2 il sETE R v C. m-gwat® 3. R
e e § i D. sf-gE @ 4. WA
3, T HEasig AEEEE EENR EEE
i fEm i e
4. wyn TPm siEesim S wfeem s b B £ D
FeTRrER o i 4 2 3 1
= w1 He W w5 = e gig) () A B C D
1 4 9 3
(a) FEe 1 ¥R 2
) 2 33 : # ? g g 4D
fc} AW 2 31 4
[ A B € D
fl) 1, 2 34 4 3 2 1
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33. Which of the following statements 35. Which onec of the following iz not a

concerning atmosphere of the Earth are tributary af the river Ganga? =
correct? S
1. In stratosphers, ternperature e B
increases with altitude, () Mahananda
2, In mesosphere, temperature
decreases with altitude. ey “Teasia.
3. The lowest femperature of the {d) Sharada

atmosphere is recorded in the

upper part of mesosphere,

j 36. Which one of the following pairs of lakes
4. Tropopause is an isothermal zone, is connected by Soo Canal?

Select the correct answer using the code .
. {a) Superior and Michigan

given below,

@) 1 and 2 only fb) Superior and Iuron
(b} 1, 2 and 3 only i Huron and Ontario
{e} 3 and 4 only fd) Huron and Erie

{d 1, 2, 3 and 4
37. In total internal reflection, the light
34, Mateh List-1 with List1I and select the travels from '
correct answer using the code given

Wl T Ll ja) rarer o denser medium and it

occurs with no loss of intensity

List-T List=IT :
{Place) (dustry) b} denser to rarer medium and it
e ) g occurs with no loss of intensity
% [}HEHIEHDH i :—ch!r
B. Koraput 3. Machine tools fcj rarer to denser medium and it
o s T a occurs with loss of intensity
. Pinjore . Aircra
D. Sirpur 4. Petracherieal {di denser to rarer medium and it
occurs with loss of intensity
Code :
(a) A B O D 38. The energy of a photon, whoss
4 n 3 1 momentum is 10 MeV /e, where ¢ is the
B A B c B speed of light, is given by
4 3 2 1 (@) 10 MeV
g A4 B C D (b) 100 MeV
1 2 3 4
@ A B e D g} 1 MeV
1 3 2 4 fedj O1 MeV

SDC-5-SNDf1A 12



33, 7ef w SgEvEe % owEw § Fefafas 8@ 35. f=fefigs § 4 #a-d e o

-8 %o H5E BT T B
I, wHamTEA B FErE R oEe STee (@) EH
EcoiRd
fh) WEHE=T

negnvEd 1 =0 F WY A9EE 926 2
3. AEAVEE W FEOH ANAE JOvEE F fe) Tewen

Fdi T # 39 T amar #) () HITET
4, e (GuuTE) uh aHadl &E 2

= o e e W e EEl I My 36. Frefiafirs # & #hm-an ehefl =1 < = g

a1 Y
frz} %r-_c'al ;E;T i@l o4
b} Faw 1, 2 @R 3
o (b Hfafe s g
jo) TR 3 HR 4 s
@ 1,2 334 el 0 i sk
(d) T
34. -1 g A gETea F R gREe E |
A fow o a5z 50 el s wd I g 37. yif siaiE wEd | vEm |
(o) & | w99 o 1 o= & e dima
-1 He-11 =1 g % fa ww B R
) (o) (5) W 2 e mom & wwn & i
A ddts 1. = =1 & & fae W w R
B. M 2. I S (c) e & wow memm # owmn e dfmen
C. TR 3. =EEH = &1fe % e wm e B
D. g 4. FrerET () (d) |u B e mem A a2 e g
A FE Ty ITmEmE
E A
@ A B © D 38. TF HiEH, faww @ 10 Mevic ®, T o
4 2 3 1 TR T AT B, Bl Sl TG BRI e
(t A B C D 2l 27
¢+ & 2 1 (@ 10 MeV
ma BB R (b) 100 MeV
1 & 8
A B € D [ L=y
P @& 2 4 ({d 01 MeV
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329, Liguids and gases never show 42Z. Match Lizt=1 wilth List-II and select the
y ; correct answer using the code given
diamagnetic property

(@) & ke below the Lists :

(k) paramagnetic properiy

: List- List-IT
(o) ferromagnetic proper
¥ {Ocean Current) {Country)
(d] electromagnetic property
Agulhaa Current 1, Peru

40. Light travels in a straight line [rectilinear

H haldt ; i
propagation of light), Thiz statement I CATR I L AR

o 0 o® »

does hold il the medium of travel for Labrador Current 3. Argentina
light i=
{a} of variable refractive index Reiend Coment % Camada,
{B} made up of slabz of different
refractive indices Code :
fe) homogeneous and transparent @ A B o b
fd)  inhomogenesous and transparent 3 4 1 2
41, Match List-I with List-Il and select the {b) A B & D
correct answer using the code given 2 1 4 |
below the Lists @
List-T List-IT fc) A B C D
{Strait) (Water Body) 3 1 4 12
A, Strait of Hormuz 1. Java Sea
. d) A B C D
B, Strait of 2. Andaman Sea fd) 9 4 1 3
Bab-el-Mandeb
C. Strait of Malacca 3. Red Sea
D. Strait of Sunda 4. Guif of Persla 43. Which one of the following fishing
Fada s banks is located off the coast of the
United Kinpdom?
fa) A B C D
* 2 3 1 {a) Great Fisher Bank
) A B C D
1 3 2 4 () Grand Banks
fo) A R C D
1 2 3 4 fc} Dogger Bank
fd) A B C B
4 3 2 1 fd) Reed Bank

—SbE-8-BNDf1A— 1%



390, @1 ¥t Wt ot 42. ddi-1 # -1 & gafaa Fifm @R gfeE F

() wegrad oo 98 2R it i T e v e 3w R

(b ST R E g1 i

(c) wiR-grashia o T B 3 (*reTaTTHrg L) ()

(d) Ferg-rra o W i E A. IR HM 1. ¥

. wHElEE 3 afie
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44, Match List-] with List-1I and select the
correct answer using the code given
below the Lists :

List-I List=[l
fPotirer Pleni) (State)
A. Salpura 1. Maharashtra
B. Dhuvaran 2. LUttarakhand
C. Tanakpur 3. Gujarat
. Dabhol 4. Madhva Pradesh
Codle
fa) A B C D
! 3 2 1
B A B C D
1 3 2 4
fe] A B C D
1 2 3 9
fd) A B C D
4 2 3 1

45, Which of the following statements
regarding soil is/are correct?
1. Alluvial soils are rich in nitrogen
content,

2.  Black =oils are rich in iron and lime
but deficient in nitrogen.

3. Laterite soils are rich in iron and
aluminium but deficient in nitrogen
and potassium,

Select the correct answer using the code
given helow.

f] 1 and 2 only

(Bl 3 enly
{o) 2 and 3 only

el 1, 2 and 3

: SDC-5-5SN D; 1A
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46, Which one of the following statements is
not correct?

()

(b}

fe)

fci)

Position of the Sun, Earth and
Moon in a siraight line of 180°
angle 13 known as syzygy.

Syzvgy conjunction causes solar
eclipse.

Syzygy opposition causes lunar
eclipse,

Syzygy conjunction occurs al the
time of perihelion only.

47. Which one of the following is not related
to wind erosion?

a)

(b

fe)

(e}

Wind gap

Zeugen

Dreikanter

Demoiselle

48. Which one of the following is correct?

fa)

(b}

fc)

(cj

Guindy National Park is known for
tiger reserve.

Namdapha National Park is meant
for lion conservation.

Jaldapara is a biosphere reserve,

Rann of Kutch is a Wild Ass
Sanctuarv.
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49, Which one of the following statements

concerning  the natural vegetation of
India iz not correct?

fa) Bal is found in moist deciduous
forests.

{b) Casuarina is largely found along
the ceoastal region of Tamil Nadu,

fc) Deodar is a coniferous species
of tree.

fd) Shola forests arc found mainly on
the upper reaches of Himalaya.

50. Which one of the following stalements

concerning research centres in India is
not correct?

ful  Rajiv Gandhi Centre for
Bintechnalogy is located at Kolkata,

(B Central Arid Zone EResearch
Institute is located at Jadhpur,

fc) Centre for Social Forestry and
Eco-Eechabilitation is  located at
Allahabad,

{d) Institute of Forest Productivity is
located at Ranchi,

18

Directions :

The following three (3) items consist of two
statements, Statement | and Statement [L
Examine these two statements carefully and
aelect the correct answer using the code given
below,

Codde

fa) Both the statements are
individually true and Statement II
is the correct explanation of
Statement [

{b) Both the statements Hare
individually trus but Statement II
is mot the correct explanation of
Statement |

fo)  Statement] is true but Statement 11
s false

fi) Statement I is false but Statermnent I
is true

51. Statement T .
The Pahi-kashta peasanis were
nen-resident  eultivators  cultivating
lands on a contractual basis,

Statement II ;

The Pahi-kashta peasants worked
under the temptation of favourable
terms of revenue or the compulsion of
economic disirass.

52. Statement I ;

The Zamindars were an exploitative
class in Mughal India.

Statement II :

The Zamindars often received the
support of the peasantry in a large
number of agrarian uprisings in North
India in the seventeenth century,
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53.

Statement T ;
King Ashoka  abolished capital
punishment and disbanded his army.
Statement 17 :

After Kalinga War, Ashoka was
remorseful and became a Buddhist.

§4. Which one of the following does not

signify a battle tank?
ja} T-55

fb) T-155

fc) T-72

() T-90

55. Which of the following Gods are also

56. Which

known as Lokapalas or the Guardians of
the Universe?

fa} Yama, Indra, Varuna and Kubera
fB) Indra, Varuna, Skanda and Kubera
fe)  Indra, Varuna, Yama and Brahma

fd) Yama, Shiva, Kubera and Indra

among the Mllowing Acts
were repealed by Article 3895 of the
Constitution of India?

1. The Government of India Act, 1935
2. TheIndian Independence Act, 1947

3. The Abolition of Privy Counecil
Jurisdiction Act, 1949

4. The Government of India Act, 1919

Select the correct answer using the code
givenn below,

faj 1 and 2 only
fB) 1 and 3 anly
fe/ 1,2 and 3 only
fadl 1,2 3 and 4

SDC-8-8ND/J1A
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58. Which of rthe

§7. On 26th November, 19458, which of the

following provisions of the Constitution
of India eame into effect?

1. Citizenship

2. Elections

3.  Provisional Parliament
4. Furndamentsl Rights

Select the correct answer using the code
given below.

fa) 2, 3 and 4
fb) 1, 2 and 3
{2} 1 and 3 only

{dl 1 and 2 only

following statements
regarding the Constituent Assembly of
India isfare correct?®

1. The Assembly was  elected
indirectly by the members of the
Provincial Legislative Assemblies.

2, The electivns were held on the
basis of Universal Adult Franchise,

3. The scheme of election was laid
down by the Cabinet Delegation.

4. The distribution of seats was done
on the basis of the Mountbatten
Flan,

Select the correct answer using the code
given helow,

fal 1 only
fb} 1,2 and 3
fe) 2 and 4

fd] 1 and 3 only
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59. Which one of the following statements is
not corrcct?

(a)

(B

(]

(d)

Centre for Science and Environment
in a recent study found that a
number of commonly awvailable
brands of prepackaged Threads
tested  positive  for  potassium
bromate and potassium iodatle.

Food Salely and Standards
Aunthority of India recommended
to the Health Ministry to remove
potassium bromate from the list of
permissible food additives.

The Union Government banned the
uae of potassium bhromate as a food
additive on the basis of the above
recomimendation,

Potagssium bromate is a neuroloxin.,

60. Which of the following voted for Bresxit
in June 20167

(@)

(b

(e}

(d)

England and Scotland

England and Wales

Scotland and Northern Ireland

Wales and Northern Ireland

SDC-5-SND/f1A
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61. Which one of the following statements
about reusable space vehicle of ISRO is
not correct?

(a)

(b)

(c]

(d)

In June 2016, ISRO successfully
launched India’s first reusable
space vehicle.

The space vehicle was launched
from Satish Dhawan Space Centre
at Sriharikota in Andhra Pradesh.

The rmeusable  launch  wehicle
climbed to a height of 65 km before
automatically steering back for
landing.

The vehicle was initially boosted by
a rocket that contained liguid fuel.

62. Which one of the following statements is
not correct?

(@)

(B)

(c}

fct)

BrahMos is a supersonic cruise
missile made by India and Russian
Federation, :

The name BrahMos came from two
rivers, Brahmaputra of Iridia and
Maoskva of Rusaia,

Indian military =cicntists  were
capable of integrating BrahMos

cruise missile with Sukhoi-30
MEKI fighter.
Defenice Research and

Development Organization is the
manufaclurer of Sukheoi-30 MKI
fighter,
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63. Which one of the following sources tells
us about women protesting against
the infidelity of their hushands or the
neglect of the wife and children by the
male head of the household?

faj The Kiab-ul-Hind

{b) Documents belonging to the Village
FPanchavats of Rajasthan, Gujarat
and Maharashtra

fel  Seulptures from Mandor

ji} The Ain-i-Akbari of Abul Fazl

64. The All India Census was
1. Ffrst attempted in 1872
2. repularly undertaken since 1881

3. always undertaken as a five-year
EXETCIZE

Zelect the correct answer using the code
given below.

fa 1 only

fb) 2 and 3 only

fej 1 and 2 only

fdl 1, 2and 3

SDC-5-SND/1A

24

65. Match List-1 with List-II and select the
correct answer using the code given
below the Lists :

List-] List-iT
(Historian) (Book)
A, Bumit Sarkar 1. The Rise and Grouth

of Economio
Nationalism in hndia

B. Bhahid Amin 2. A Rule of Property
for Bengal

C. Ranajil Guha 3. The Swadeshi
Movement in Bengual,
1903-1908

D. Bipan Chandra 4. Ewenf, Metaphor,
Memory—Chaur
Chaura, 1922-1992

Code :

fa) A JE] o )
3 4 2 1

fb) A B C i)
3 2 4 1

fol A B c D
1 2 4 3

(d}

— =
& m
SHe!
w o

66. What form of Shiva is most prominent
in the Brihadeshvara Temple built by
the Chola dynasty?

fa) Harihara
{b) Bhairava
fc} Rudra

{d} Tripurantaka
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67. The basic structure doctrine with regard

to the Constitution of India relaies to
1. the power of judicial review

2. the judgment in Kesavananda

Eharati case [1973)

3. the constraints on Article 368 of
the Constitution of India

4. the judgment in  Golaknath
case (L967)

Select the correct answer using the code
given below,

fa) 1, 2 and 3 only
(b} 1,2, 3 and 4
Yo} 1 and 3 only

fdi 2 and 4 only

68. Which of the following fundamental

righta as enshrined in the Constitution
of India belong only to the citizens?

1. Article 19 (Protection of right to
freedom of speech)

2. Article 21 (Protectinon of life and
personal liberty)

3. Article 15 [Prohibition of discri-
minaticn)

4. Article 16 |Egquality of opportunity)

Select the correct answer using the code
given below.

fo} 1, 2 and 3
fb) 2,3 and 4
ff 1,3 and 4

fd) 1 and 4 only

—SDC=-5-SND/1A
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69. A citizen of India will lose his or her

citizenship if he or she
1. renouneces Indian citizenship

2. wvoluntarily acguires the citizenship
of another country

3, marries a citizen of anolher country

4, crticizes the Governmeni

Select the correct anawer using the code
given below,

fa) 1, 2 and 3

(B} 2, 3 and 4

fe) 1 and 2 oenly

{dl 1 and 4

70. Which one of the following stalements

is not correct with respect to protection
of individuals being tried for offences?

fa) A confession can never be used as
evidence against the accused,

(&) The accused must have violaled an
existing law.

{fc} An accused cannot be tried and
punished for the same offence

again.

fefl The gquantum of punishment muat
be provided in law as it cxisted
on the date of commission of an
offence.
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71. Neil O'Brien, who died recently, was a T4, Who among the following won the Men's
famous Singles Title in the Australian Open
Tennis Tournament, 20167
)} journalist

g} Jamie Murray
fb} billiards player (e

fc) dramatist {b} Bruno Soares

fd} quiz master fc) Novak Djokovic

@) Andy M
T2. Consider the following statement ¢ oy Murmy

“If you feel you are trapped in a black

hole, don't give up. There is a way out.”
75. Which of the following statements about

; ‘o
Who among the following made the the philosopher Shankara isfare true?

above statement? 1. Shankara espoused a form of

Vedania called Advaita,

(). Al Einnbain 2, He claborated on the philosophy

: of Gaudapada.
fb) Stephen Hawking

3. Shankara tried to demonstrate that

fe) €. V. Raman the Upanishads and Brahmasutras
contain & unified, syslemalic
fd) Abdus Salam philosophy.
4., Shankara founded the Amanaya
Mathas.
73. Recently the Government of India cleared
the proposal for the production of Select the correct answer using the code
18 indigenous ‘Dhanush’ artillery guns given below,

to be preduced in India by
fa) 1 and 2 only

fr}  Indian Army
(b} 1, 2 and 3

(b} US Army
() Indian Ordnance Factory Board (e} 3 and 4
fd) Indian and US Army jointly (d) 4 only

SDC-5-SND/1A 28 -
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T6. Which of the following stalements about

the Decean Riots of 1875 iafare true?

1. The Deccan Riots resulted in
protection for peasants through
the Deccan Agriculturalisis Relief
Act of 1879,

2, The rmiota did not spread to the
whole of Maharashtra because of
prompt suppression by the Brilish,

3. The British were unable to contain
the riots and they spread
throughout Maharaghtra,

4, The cotton boom in the Deccan
that had been caused by the
artificial demand generated by the
American Civil War caused the
impeverishment of the peasants.

Select the correct answer using the code
given below,

fal 1 only

fh) 1 and 3

fe} 2 and 4 only
fdl 1, 2 and 4

T7. Why are the Gypsies regarded as of

Indian origin?
L. They follow
practices.

Indian

religions

2. Their language, called Reomani, is
an [ndo-Aryan language.

3. They believe that they came from
India.

4. Epigraphic evidence locates their
original home in Uttar Pradesh.

Select the correct answer using the code
given below.

fal 1 and 4 only
fb) 2 only

fol 1, 2 and 4
fdl 2 and 3
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78. The term Upari refers to which one of the

following

fa) A calegory of proprietary tenure
under the Mughal rule

{b) A category of tenancy tenure under
the Maratha rule

fc) A scldier in the Maratha army

{d} A wvillage headman in the Mughal
period

79. The ‘water frame’ of Richard Arlowright

was a deviee for

fa) producing a new pe of painling
(B) irrigating fields for rice cultivation
{c) producing setrong threads of yam

fd} the [aster movement of sieamships

BO. The ‘four great needs' of the people as

identified by the Guomindang were

fa) clothing, food,
transportation

housing and

fb) education, food,
health care

housing and

fe) food, housing, education and

employment

{d) employment, housing, education
and health care



76, Tr=rfafias 8 9 FH-91/8 99 1875 & 984 & 78, ‘I’ W= Freleman # & fee uw 6 Ty #

a1 & fawg 0 am /87 a7
1. @A % @ % ufonmeEn T FOE
Ted AfutEn, 1879 % wiead @ fw) T WEA F e e sl
=1 gean Tt T Soft
2, il % ARl S5 % HRm I R
oy, 1H el | (b) TS MHA % A FrEET A H
3. sl @i 91 OF # awmd ¥ ain & A
g # 3 % )

a. = wa § w gfE, S i o) it e A v A

Tega § I9A FHEW 7 FR A o, 3

ST e R | fd) FTE =Tl H O i F R
H fou ez T = FE IW gh)
(a) e 1 70, Tad e w A i e wE F e o
() 13R3 TR 7
(o wRa R (o) T T THR R R R
@ 1,234

{b) == = we B w1 e Ty
77. w0 (Frwll) |1 wwdm 4@ w1 @ HEE

Eini B (c) ER % UeHE W = F A
1. 3 wrde niffs feE) w1 9o w0 2
9. =H oy, S A TR B, (d) === Gl £ e i fen
e 4 =314 9§ _ )
3, F% 78 fawwm 2 f5 A wm B A 1
T & go. 7Hifiem gm fEifm swm f 9w af
4 gUERR W T A e g we SRR, T e
# wnfa v B
(a) S, W1, W SR IfEw
i fom T = 1 vEm A I g
fa) Had 1 21 4 (b) T, @, =S wwe
bh) FHEH
W ’ fc) @, wt, fian s 3R
fc) 1, 234
(@) 23 (d) Trmm, =, foen i @ wn

SDC-3-3NL/1A 31 [ BT, 0



81. Which one of the following was the earlier 85. Which one of the following is the highest

name of Tokyo? altitude zoo in the world?
fa] Osaka fa) Cheyenne Mountain Zoo

it G. B. Pant High Altitude Zoo
fb) Kyoto {b) PanditG ant High ¢

% 8 _ ) Himalayan Zeological Park, Gangtok
¢/ Samurai

{d) Padmaja Naidu Himalayan
fdl Edo Zoological Park

82. The epic, Silappadikaram refers to the 86. Which one of the following statements
ahour the Missile Technology Conlrol

fi) slory of Rama Regime iz not correct?
(b} Jaina elements in the storyline fa) The Missile Technology Control
Regime is an  informal and
fc) culture of Sri Lankan Buddhists veluntary. partuership: cidally

formed ameng G-7 countries.

14 el ot Shakt woraip fb) Members of the Missile Technology

Contral  Regime  prevent the
proliferation of  missile  and
unmanned asrial vehicle technology
capable of carrying above 500 kg
payload fur more than 300 km.

8§3. Rukshusa type of marriage is

{a) marriage by purchase

fb} marriege by capture (c) China applied to join the Regime
riis but members did not offer the
(¢} marrisge by glving dowry membership,
(d) marriage by seduction {d] No other country outside the
membership follows the Regime
rules.

84, Who among the following was defeated by
Chile to won the Copa America Football _
Championship, 20167 87. The first Tejas sguadron of Indian Air
Force consists of

Colombi i i
(a) Colombia (a) 20 aircrafts with 4 in reserve

(b} Argentina (b) 100 aircrafts with 10 in reserve
(e} Eeuador fc/ 20 aircrafts with no reserve
fdl Peru fd] 25 aircrafts with 5 in reserve
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BB. The headguarters of ‘Economic and 91. According to the Classical Theory of
Social Commission [or Asia and the Employment, deviations from the state
Pacific’ is located at of full employment are
fri) Singapore
fh) Manila

fa) purely temporary in nature,

{c) Bangkok fb) permanent in nature
(d) Hong Kong fc) imaginary situations
89. Which of the lollowing with regard to the (d) normal situations
term ‘bank run’ is correct?
(a) The net balance of meney a banlk 92, Capital deepening refers to
has in its chest at the end of the
day’s business fa) going for more fixed capital per

{B) The ratio of bank's total deposits worker

d total liabilities
o fb) emphasia on  social  overhead

fe} A panic situation when the deposit capital
holdera start withdrawing cash
from the banks fej constant capital-output ratio
{d) The period in which a bank creates . . : :
highest credit in the market d] increasing capital-output ratio

90. Which of the [vllowing will be the
outcome if an economy is under the
inflationary pressure?

93. Which one ol lhe [vllowing statements is
not correct with respect to Article 32 of

the Constitution of India?
1. Domestic currency heads for

depreciation. {a) 1t provides remedies (o cilizens for
2. Exporls become less competitive the enforcement of fundamental
with imports getting costlier. rights,

3. Cost of borrowing decreases.

h) Tt 18 a part of fundamental rights.
4. Bondholders get benefitted. &) 1 7 gh

Select the correct answer using the code fc) The Supreme Court cannot refuse a

given below, wril petition under Article 32 on the
round of delay,

fa) 1 and 2 & 2y

(B) 2 and 3 (d} Protection under Article 32 also

applies to the enforcement of
ordinary law which has nothing to
fd} 1, 3 and 4 do with the fundamental rights.

fe) 1 and 3 only
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94, Which one of the following writs is issued

by the Bupreme Court to secure the
freedom of a person upon unlawful
arrest?

fa] Habcas Corpus
b} Mandamus
jr) Certinrari

fd) Quo Warranto

05. According to the provisions of the

Constitution of India, which vne of the
following is not a fundamental duty?

fa] To respect the National Flag
fb) To defend the country
fe) Ta provide education to one's child

fdj To promote village and cottage
industrica

Under Article 352 of the Constitution
of India, an emergeney can be declared
if security of anv part of India is
threatened by

1. war

2. external aggression
3. armed rebellion

4.  internal disturbance

Select the correct answer using the code
given below,

fa) 1,2 and 3
b} 2, 3 and 4
fo) 1, 3 and 4

{d 1 and 2 only
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97. Which one of the following statements

ig ot true of the Prolection of Women
from Domestic Violence Act, 20052

fn} Thiz Act provides civil remedies
lo protect a woman subjected fo
domestic vinlencea,

(b}  Omnly women can make a complaint
under this legislation.

fr] Helicf may be sought only against
the husband or a male live-in
partner with whom the woman has
lived in a domestic relationship,

fd} The Act includes not just wives

but also women in marmtiage-like
relationshipa.

98, Which one of the following statements

iz not correct?

) Creation of National Investment
and Infrastructure Fund (NIIF)
was announced in the Union
Budget, 2015-16,

(k) NIIF is a fund for enhancing
mmfrastructure  facihity n the
country.

{} NIIF and NIF (Mational Investment
Fund) are the names of the same
organization.

fd) NIIF can have more Llhan one
alternative inveatment fund,

99. Which one of the following is fot correct

in respect of Andaman and Nicobar
Command?

fa} It is the [irst integrated theatre
command in India,
fb) 1ts headguarters is at Port Blair.

fo) It 18 commanded by a three-star
_officer.

fd] 1t was sct up by the British during
the Second World War.



04, F=fifiga # & #m-m v wmw, feh =i

B WA F W AR A0 AW W, 6
A Ftam F % fom = = g
w1 o T BT

jaj =& TrAETE STy wiiE)
(bj e (Hewa)

(c) 3w (WiE=R)

(d) AfSERR-T= (F1 =)

95, WA % WAYH % WEdE % dAgan Pt

H H FH-T TF WiAF Fi= T 27
(@) TTEGE 1 WH F]

fb) ¥ 41 wigen F4

fc] 3T ==t % e EE s
(d) T e gl st ) Al 3

96, Wi % Hauwd & et 352 F 0,

STHVARIE T ST WO B, TR W
% el s = g e #

1. IEH
Taesf wwm |

2

3. WO EEn o

4. HAaHE IUET

2 fw o g W owEm w wwE I g
(@ 1,233

(b] 2,334

) 1,331 4

(d) =E= 1 s 2

SDC-5-5ND/J1A 37

97. F=fafEa Fubi § @ #9-m wxw, 9 w3

Higen wige A, 2005 F Fum & @9
T 87

() TE AFEE e fem = e g
Afeen =1 gean wEE wE F e aarte
UM} 1 WY HE B

(b) ¥4 =A% il e nfgemd 6 w5
i 5= = T B

fc) @ Wl ww=m w0 w W g e,
TR W19 mieen F A g9 ) R,
¥ Toreg o) TEa Wil w0 weRd R

(@ ¥ At Fa o owo# A
wafde won &, afce w38 d9di #
8= =relt afeemd of gk sila a2

98, fy=iferftes #om @ # w=0-W vE T € 27

(@ Ul FEm @ AR s =
(NIIF) % = 1 9mv wee =@,
2015-16 F # M|

(b) NIIF ©F Tm = &, 5 20 § anarfe
HOET g B age F T

(¢) NIIF 3R NIF (Tg= Fem %) s @
HTEA % AW B

(@ NuF # uE B Al JEis Faw =y
7w

09, fr=ifefias # & 97— T, =90 1 REEr

FAW * a9 T wel T 47

(a) T8 W T TEel THEE A R

(b) TR e O s | B

(¢} % UH diR-FEm eEa Afwd 5w
frifam 2 21

(d) TR T e e Re g ¥
3 #i T i)

| P T. 0,



100. Who iz the Chairman of the Chiefs of

Etaff Commitiee?
fa) The Chief of Army Staff
fb) The Chief of Naval 3tafl
fe} The Chief of Air Staff
fdj The member who has been the
longest on the Committee
101. Jammu and Kashmir Rifles is

fa) an infantry regiment of the Indian
Army

{b) a battalion of the Rashtriya Rifles

) the name of the Armed Police of the
State of Jammu and Kashmir

fdl a paramilitary force under the
Ministry of Home Affairs

102. Which one of the fallowing is carrect?

fo) Infantry Regiment is also known as
the Mechanized Infantry Regiment.

(b) Corps of Electrical and Mechanical
Engineers is subsumed in the
Corps of Engineers,

fc} Army Medical Corps and Army
Dental Corps are two divisions of
the Army Service Corps.

{d) Army has its own Corps of Air

Defence.

SpDC-3-SND/1A =

103. Which one of the following is net one of
the Commands of the Indian Army?

fa) South Western Command

(b} North Eastern Command

fc) Central Command

(d} Army Training Command [ARTRAC)
104, Which one of the following statements

is correct?

fn) The rank of Second Lieutenant has
been abolished.

fb) The Chief of Army Staff carries the
rank of Field Marshal,

fe) Al officera posted to Andaman and
MNicobar lslands wear the ranks of
the Indian Nawvy.

{d) The rank of Major General is higher
than the rank of Lieutenant
General.

105. Which one of the following is mot an
Air Defence Missile system?
fa) Akash
{b) Trishul
fo} Tatra

(d) Astra
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106. Which one of the following statements is 110. The members of NAFTA are
correct with respect to the compasition fa) USA,
of national income in India?

Canada and Mexicn
fb) USA, Canada and India
fa The share of manufacturing sector fc) USA, Canada and Japan
has declined. (d) USA, UK and India

fby The share of services sector has

increased ‘shazrply; 111. Which of the following are constitutional

provisions and laws for the protection

fcf The share of agriculture has of the rights of the Scheduled Caates

remained static. in India?
: ic - ituti I
{d/ The share of services sector has : i:;ilﬂ LE ALt emaiiginn.
CRelae: 9. The Protection of Civil Rights

Act, 1955

107. In India, the term ‘hot money' is used to 3. The Scheduled Castes and the
refer to Scheduled Tribes (Prevention of

Atrocities] Act, 1989

Select the correct answer using the code
given below.

fa) Currency + Eeserves with the REI
jb) Net GDR

fc) MNet Foreign Direcl Investment fa) 1 and 3 only
f) 1 and 2 only
fe} 1,2 and 3
fdd} 2 and 3 only

fd} Foreign Portfolic Investment

10B. Which of the following is/are credit rating

agency/agencics in India? 112. Which ene of the fellowing iz net true

(a} CRISIL about the powers of the Supreme
Court?

(Bt ek fe} The Supreme Courl has original

() ICRA and exclusive jurisdiction in inter-

governmental disputes,

@} AN of the ahowe fb) The Supreme Court haz advisory

jurisdiction on a question of law or

109. Who among the following is the fact which may be referred to it by
Chairman of the Fourteenth Finance the President of India.
Comimission? fc) The Supreme Court has the power

: to review its own judgment or
fa} C. Eangarajan e+
(b) Vijay Kelkar {d} The Supreme Court has the
lusive power to issue writs to
Y. V. Redd S
fel iz | protecl the fundsmental rights of
fd) Rakesh Mohan the people.
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113. The Sixth Schedule of the Constitution of

India pertains to the administration of
tribal areas in which of the [llowing
States?

{a] Assam, Meghalaya, Tripura and

Mimoram

(B} Meghalaya, Tripura, Manipur and
Mizoram

{e) Assam, Manipur, Meghalaya and
Tripura

{dl Mamipur, Meghalaya, Tripura and
Arunachal Pradesh

114. Which one of the following statements

with regard to the Ninth Schedule of
the Constitution of India iz rot correct?

fa) It was inserted by the Constitution
(First Amendment] Acl, 1951,

{B] The Acts and Regulations specified
in the Ninth Schedule shall become
void on the ground that it violates a
fundamental right in Part III of the
Constitution.

fe) The Supreme Court has the power
of judicial review of an Act included
in the Ninth Schedule on the
doctrine of basic structure.

fd) The appropriate Legmslature can
repeal or amend an Act specified in
the Ninth Schedule.

SDC-85-8ND/f1A =

115. Consider the following statements about

Harappan cities :

1. Roads were not always absolutely
straight and did not always cross
cne another at right angles.

2. A striking feature is the uniformity
in the average size of the bricks for
houses and for city walls.

Which of the statements piven above
is/are correct? '

fal 1 only

(b} 2 only

{c¢j Both 1 and 2
{d) MNeither 1 nor 2

116. Match ListI with List-IT and select the

= 0 B

correct answer using the code given
below the Lists :

List=! List-II
{Term) {(Meaning)
Kurinchi 1. Pastoral region

Palai 2. Seashore
Neytal 3. Ard region

Mullai 4, Mountainous region
Code :
fa) A B G D
1 2 3 4
bl A B C D
1 3 2 4
fe} A B C D
4 3 2 1
fd] A B C D
4 2 3 1



113. ¥WRA & HiEaE # 98] s Fefeiad §
5 T # W & R WA | ey
Tt &7

{a

SHH, T, Fg s i

b)) HareE, By, Afg 2 e

(c)

() wfr, e, fm st amEE wmw

114, wid + #iewa 41 Al sggE ® wEw §
frafefes # & F5-m w6 Fam 7l T 8

(a)

()

(e)

(d)

W ERvE  (vym wee)  sfifam,
1951 % | | |fsfed B @ an

Al syt # Ghfe 68 sl
o= 38 =9 s € 5o
T7 WAUW F 9P I % R i
HTHFN T I F= B

st g % firam m A g §
anfie et srfifem % ~anfass gepftem
%1 7 T=an ey % I g

At s © fatRe fed ol =
oy MuaeHeEs Fom o9 gaifm oW
T 2

SDC-5-SND/1A

115. B2 % ¥Ed & dHay ¥ frefefm s w=
e Fifan

1.

ek T ) @@ § O A D o
i ww-mEl F ORHW IR WO
e o |
ot o o B E G e R R
b e B = e - ey 2 =2
THREAM B

s el 4 & ooyl 3/

fa) FEE 1
fb) HaE 2
fc) 13 27A
fd) A7 1 AEAE 2
116, 41 = g # gafem Fifm i gha
F2 fay o gz = i W od I gfio
HE-I w11
(¥r=2) (a1ef)
A, g 1. =RTE &
B. TR 2. HgFEe
C. Agamw 3. TS AR
D. Yt 4, A 6
T2
@@ A B C D
1 2 3 q
[!’J_,l' A B C ]
1 3 2 4
@ A B C D
4 3 2 1
A B © D
% @B & 1

RSO



117. Which of the following statementls with

regard to the conduct of elections in

India is/are not correct?

1. The respensibility for the prepara-
tion of the electoral rolls is vested
in the Election Commission of
India.

2. The Model Code of Conduct comes
into existenice as soon as the date
of the election i1s anncunced.

3. The laws relating to delimitation of
constituencies are made by the
Election Commission of Tndia,

4. No election shall be called in
question except by an election
petition.

Select the correct answer using the code
given below.

{a) 3 only
(b} 1, 2 and 4
fel 1,2 and 3
fd) 4 only

118, Which one of the following statements

with regard to the Natienal Commission
far Scheduled Tribes is neot correct?

fa) The Union and every State
Government shall consult  the
Commission on all major policy
matters affecting Scheduled Tribes,

% ANl the reports of the Commission
and its recommendations shall be
laid only hefore Lok Sabha.

{c) The Commission, while investiga-
ling any matter, has all the powers
of a Civil Court.

fd] The Commission has the power fo
regulate its own procedures.

SDC-5-8NLI/1A

118,

The right to form associations and

unions is a right

fa) guaranteed to everybody

(h) to freedom guaranteed to citizens
only

fc) to equality before law

jd) to life and personal liberty

120. Some Indian territory was transferred in

2015 w Bangladesh by following which
procedure?

fa) By an apreement between the
Government of India and the
Government of Bangladesh

fb) By a legislation passed by the
Farliament amending Schedule 1 to
the Constitution of India

{e) By amending Schedule 1 to the
Constitution of India by exercising
amending power of the Parliament

(d) By amending SBchedule 1 to the
Constitution of India by exercising
amending power of the Parliament
and ratification by sixteen Stale
Legislatures
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Note ;: English version of the instructions is printed on the front cover of this Booklet.





